= s il 2cm
o] glc}. Ze ol Hshs AB < 2ol \
=7 40
cm
A T B
@ 2cm @ 2v2cm (@)Zﬁcm
@ 4cm ® 4v3cm

m:2cm,ﬁ= 1cm
AT = V22 -12 = V3(cm)
- AB = 2AT = 2V3(cm)




“Foftof et
AB
D 2v97cm ® 3+15cm ® 6+v15cm
@Q@CIH ® V65cm

B

AD = V81 -16 = V65cm
AB = 2x AD = 2v65(cm) (- AD = BD)

A% B
NS




oH& 2ol 4 £ S48 Aole] dol7k 12x olek. 2L 90] Hake
2 219 @ PQ 9 Zolg Tahw?

P

®5v3 @i @33 @28 O3

OP —OM =R2-r2=12
- PM =23




& 2ol A AB £ 9 0 9 Agelth. AB =6, CD =4 °]1
AB//CD ¥ ®j, ACOD ] Yo]=?

JAVA)
N

®vi o 0228 @ 03

B

0OC=3, CE=29°]|22 OE = V32 -22 = 5 o|t}.

-t A ACOD:%XZLX V5 =25 o]},




t}S o] A 5. OptAB =HAE9 4 H
o7} som 91 9] Aitolet, AH = ASZam |
BH, ABLHP ©]3 HP = 2cm € u,

AAPB 9] S#&9

@® 7v2cm @ (16 V74 3v2)cm
® (3V6+2V7)em @(4\/7—&-8\5)01&1

® (2V7+4V2)em

~&B

A9 54 05 19Hof Yehfo] EH
) ZF7YE AOAH oA
AH = VOA2? - OH2

= V®)?2-(6)2 =2V7(cm)
o, AH=BH =2V7cm 0|2 &
E: 4\/7CH1 OIJ_—,-,

AP = /(AH?) + (HP?)
= /(2V7)2 + (2)? = 4V2(cm)

w2tA], AAPB 9] E8= (8 V2 + 4V7)(cm) ©]th.




Th 193 2ol ZABE R0 9
o]a1, AD =BD, AB1CD ¥ ufj, o
w82 2ol

@ 4cm @)5cm ® 6cm @ Tcm ® 8cm

90 9 WA59) dol2 remet 5 C
Eﬂ \
x? =42+ (x—2)2
=164+ x>—4x+4
4x =20

s.x=5(cm)




